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Area Worksheet
Find the areas and use appropriate units.

1. A customer wants metal cutouts of the following shapes from a 4’ x 8’ sheet of metal. Estimate if
there is enough material to make the cuts. Sketch a possible layout for the cuts below.
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2. The diagram shows the dimensions of the front of a storage building. What is the area of the entire
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5. Find the area of the figure to the nearest square unit.
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6. A field is to be fertilized at a cost of $.10 per square yard. The rectangular part of the field is 110
yards long and the diameter of cach semicircle is 50 yards. Find the cost of fertlllzmg the field. Use
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7. A circlie has an area of 28 cr of 28 em?. i the radius is doubled, what is the area of the new circle?
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8. A new circular fountain being demgned fora park a diameter of 25 feet.
a. Find the surface area of the water in the fountain. Explain how you find the area.
b. Suppose the designer of the fountain decides that the surface area of the water in the fountain should
be 450 square feet. Find the diameter of this fountain. Explain how you find the diameter. 9 Gl'
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9. Find the area of the shaded portion of the figure. Dimensions are in fcet Leave your answer in
terms of . (Circle inside a trapezcncl)
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